R NZA / Components
W79 =H)LT—4 / Technical Datall No. & / Part name = / Pcs B / Material & - RELE / Color-Finish
##{thJLY / Recommended torque 1 =—F—Jnvy 4 7'»57\4#—'\".;{" ADC12 ?}b/(— ' jﬁ‘y?-ﬁﬁ (W?ﬂ%mg)
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
M25 : 0.15N*m ~ 0.2N*m 9 AR ) T IV # A6063S-T5 DIV — R (NERRALER)
Frame Extruded aluminium A6063S-T5 Silver - Painted (Unfinished inside)
M3.M4 : 0.3N-m ~ 0.6N-m ; SL—1 A Z LS AG063S-T5 DL N— Bk (R EEILIE)
Panel support frame Extruded aluminium A6063S-T5 Silver - Painted (Unfinished inside)
. At ) 7 LEHR A1100P DILN— R (REEBNE)
Panel Aluminium A1100P Silver - Painted (Conductive inside)
5 Fi— | 7 JLEHR A1100P DN— B (RELENE)
Top cover Aluminium A1100P Silver-Painted (Conductive inside)
6 This— . 7 JL2HR A1100P DN— B (RELBNE)
Bottom cover Aluminium A1100P Silver - Painted (Conductive inside)
JLE TPE (TZRHR) I3vYy
7 Ruber feet 4 TPE (Elastomer) Black
TR PRI R == VIIN—T LA & TFVH
Aluminium feet Aluminium & Silicone Silver*Anodized & Black
s HfHE R (M3 x 8) 16 % ZyT L AYE
Screw (Flat head M3 - 8) Steel Nickel plated
9 AFE R (BZM3 x 5) 12 % ZUTILAvFE
] Screw (Trapezoid head M3 - 5) Steel Nickel plated
10 HBATE R (/812 KEM4 x 8) 4 % ZmE/OA—+
Screw (Bind head M4 - 8) Steel Black trivalent chromate
» BRAFER GETFRLEF"M25 x 7) 12 % UL AV
Screw (Captive pan head M2.5 - 7) Steel Nickel plated

F view
H4F / Product Number
s - ]-00 O O- OO0
H+ti% Wtk Dtix R (R/A) ERP/H) B
H dimension W dimension D dimension Feet (R or A) Screw (P or H) Color Type !

BAL#k / Feet specification ERE R4E#E / Original trapezoid head screw specification

® b | 0

E 52X / Phillips 7Nf3 / Hexagon-socket

@30 10

E I L2 / Rubber feet

FILERE / Aluminium feet

AHEHIMIFH I 2EREOEIFE SRR INFBIE T E(C)FELET. / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.

{14k / Color Type B2 /Title Py
= A =5 o N - . (@Y ]
i85 / Code | 2—3—JAv% / Corner block {8I#R / Frame X2 / Panel $173— / Top cover | T4/3— / Bottom cover TAKACHI| HASHINFERIR INRILIRET IILSH Y r—R \/ 3 |
S'S < )L78— / Silver < )LiN— / Silver < )JLsIN— / Silver < )L18— / Silver ¥ )LsN— / Silver TAKACHI ELECTRONICS ENCLOSURE €O, LTD. ALUMINIUM ENCLOSURE with DETACHABLE PANELS =
S B 7594 / Black 2 )L/N— / Silver < )L/N— / Silver 2 )L/N— / Silver 2 JL/N— / Silver #%/Approved #%E/Checked U /Created | £ /Product number R/ Soale
AUP88-50-300 -0 —
iR ES Lazn) N—=/Page
ek B /Date 2022/12/29 1717




D view

B-B(1:

453

6.5)

253

88+0.3

E view

C
J 0
A view
500+ 0.8

B = A

i lll L
1
I A

F view

A-A(1:65) C-C(1:65)
© —
© [oe]
©
286 493
C view B view
300+ 0.5
S/ Title

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

ISRILBRBET LI Yy —2R
ALUMINIUM ENCLOSURE with DETACHABLE PANELS

o]

£8/Approved

R

X/ Checked

T

#[/Created 24 /Product number RE/Seale
AUP88-50-30000-0101 165
E]”*‘T R—/Page
{ERL B /Date 2022/08/10 2 /17




C fAl#x / C Frame

250

87

80.7

XM / Front side

D {8l#% / D Frame

R / Front side

22.5

25

33

33

251 / Back side

I-‘ 7
& 9
5 2-M3AH SR
2-M3 Countersunk
% RxIEBE4E / Same on the other side.
|.(\ 7
o o

221 / Back side

m#/Title
BREUINTFEMTE %ﬁlmi O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
2 /Approved 18X/ Checked X /Created FIF /Product number RE/Scale
H88 - D300 125
iR ES Eaza) N—/Page
1ERLH/Date 2022/07/20 3 /717




16

225

426

P

450

6.5

3-M2.5

Lz

LM

B

i

2-M3FH I}
2-M3 Countersunk

M3

5.5 10.5

14
3

£t47K / Total 4 pieces

[TAKACHI) #t&itshFBHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

G/ Title
TL—L

Panel support frame

o]

7R/ Approved

iR

X/ Checked

T

X /Created

A

FIF /Product number

W500

RE/Scale
1:2

{ERL B /Date 2022/08/08

~R—/Page

4 /1




A /N2RJL / A Panel

75
Q-J

—_

b

XM / Front side

B /A% JL / B Panel

BT / Max dim. 54.6+0.3

A%h~Ti% / Max dim. 442+ 0.8

K / Front side

3.5

RS —HMA

Surface protective film side

6-M25FARILRY)—T
6—Metal sleeve for M2.5

RS — A

Surface protective film side

67.5

426

251 / Back side

221 / Back side

R4/ Title
HRRMIHTRIRTE Rees O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
=2 /Approved | #&R/Checked #IX/Created | Z2%/Product number RIE/Scale
H88 — W500 14
iR x 325 N—/Page
{ERLH/Date 2022/10/25 5/ 17




4-R14.7
<

: o
& K

R / Front side

489.4

470

A#h~ti% / Max dim. 453+ 0.8

6-@4.5

A#h % / Max dim. 253+ 0.5

2
7 N
ReE—HMA
Surface protective film side
e J,
ZEME / Back side
. R4/ Title
TAKACHI] #A&HSNFERTE Hi— @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
758/Approved | 1&R/Checked | BUE/Created | Z%/Product number RE/Scale
W500 - D300 1:45
EP*E X 5]”*‘1‘ ~R—/Page
{ER B /Date 2022/07/20 6 / 7




4-R14.7
< o =
g R 5

M@ / Front side

489.4

470

4414

A%hTi% / Max dim. 453+ 0.8

6-@4.5

<ti% / Max dim. 253+ 0.5

#

=l

4-M4

RE—MA

Surface protective film side

2@ / Back side

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
Th—

Bottom cover

o]

738 /Approved

R

%[/ Checked

T

#[/Created

A

24 /Product number

W500 - D300

RE/Scale
1:45

YERL B /Date 2022/07/20

~R—/Page

771






